Answer to Question #88847 — Math — Algebra

Question

Given that alpha and beta are the roots of the equation 2xsquare - 4x + 3 = 0. Form
a new quadratic equation whose root are :

A. 1/alpha, 1/beta

B. 2alpha - 1/beta, 2 beta”-1/2

C. 2alpha, 2beta

Solution
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or,3x° —4x+2=0.



B.

Let (2a—l)and(Zﬂ—i)betherootsof X% +gx+r=00rx2+Ix+ =0
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or,3x°> —8x+8=0.



C.

Let (2a)and (28) be therootsof px? +qx+r =0or x>+ Ix+ L =0

N
then, 2a + 28 = —% and (2a)(2/3) :%

2a+p)=—Jand 4ap ="
p p

202) =L and 4y = =
p 2" p

4:—ﬂand 6:L
p

—4:gand 6:L
Y Y

-.Equationis: x* —4x+6=0

or,x’> —4x+6=0.
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